BRIy LA P 100 £ EE AR IR A
fi /RENP [HA]: B 5R(-) /T2 42 [98307]

g (1) T8
X r B rd

! 7
QrFEELZ-%Eg »E5 2
@xf\z_rfgf‘% ﬁhii\'},%'—ﬂ-i ,f»‘*’slﬁﬁ'\mg’? ,szzn;‘zé-,%%fl\%’?—ﬂ%é%:%’ﬁﬁ%‘
7?—]-}1‘?];3 ;}r'/n * '\lo* %EL‘.Z. /E*%"/'F*E}u
ORed WA KR EAT -0 (F7 E‘Hz& IARE REFAR H A D 44t @ :%i%?‘
Bosd AT RIS BRI T FFEBRE LG AR > FEBR A PRLET ¥

FAe 104 > FEs D B3R 4R RE I n

% /Jﬁé% A SE R
OFxEpHY > iﬁwﬁ;ﬁié&zﬁuibgl

3m

EEE o B R LA CSESP LRGN b A R THE R

#p -
o [B 1] #7325 ha i

20V <_|> 16V
[#1]
(=) Ffir £ 4 Ll“’ (Superposmon theorem) » 3+ & [ & o [15 4 )
(Z) F#EHEe3Qirtzag [54]

(Z) sshr s @ i J gk AP AR AT S F P E o [54]

T
do (2] #rm2 - PR 829 L=5A~i(0)=1A:
. 4
|+
20\
I, tH[
| _
[# 2]
(=) FFdpt— P37 B2 pF R ¥ #(Time constant) » [10 4 ]
(=) g m)enis - [5 4]

(2) 4 i OFEF R - [10 4]

Ep =

4o [ 8] 3] #777 54p £ (Phasor) 7 § -

ito

10
110¢ 7V — 050 Zy

@

[# 3]

(-) ’éfa‘-ﬂ“\:”l“{f 1 Zp 22 *h et % 5 22 T B (Thevenin equivalent circuit) » [15 4]
(Z) FEFEP 228 REV AT REFTE S TR # 5 -[104]

P
do [F 4] #777 e02br qpe < B> BK%E B e F(Opamp) 5 2 =~ &

[# 4]
(=) RO TRAE 25 -[154]
(Z) FTBRHELRLSH > 22 R =Ry R Ry Rz vt BB T3 2 [10 4~ ]



